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Example 1

Sunday, April 26, 2015 2:39PM

Four point charges with magnitudere placed at the corners of a square that is
30 cm on a side. Two charges, diagonally opposite each other, are positive, and the other
two are negative. What are the magnitude and the direction of the force on one of the
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Example 2
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What are the 3 currents?
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Example 3

Sunday, April 26, 2015 2:49 PM

A deuteron with mass of 3.34 X 10—27 kg and charge
of 1.60 x 10-*°® C moves in a magnetic field of 5.70 x
10— T.

What is the speed of the deuteron if it moves in a
helical path of radius 0.0512 m and pitch 0. 167 m?
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Example 3
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A coil contains 100 turns of wire in a loop 15 cm in diameter. The loop is placed between the
poles of a large electromagnet, B =1.0 T, with the plane of the loop perpendicular to the field.

If the magnetic field is steadily reduced from 1.0 T to O in 16 s, what is the average emf in the
coil while the field is changing?
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